IBNE | EER | SEE | HEE | RS WEE
HEsR % X5 Bf | &iBR | EAEN B=

A B C |D(B*C) E E/Ax100
AR —)L 1RSRSIC D= 1,4808[ 3237M| 50%[1.618M] 1.610M| 108.8%|fi0Ek, BRXDZHRTTX
EREO) 1BRIC D= 210A] 5178 50%| 258M| 240M| 114.3%|70CEICERRBERE,
FBRQ 1RRIC D= 2108 5178 50%| 258H| 240M| 114.3%
FHEZ=D 1RRIC D= 1008]| 2498 50%| 1248| 120Mm| 120.0%
HEZED 1RRIC D= 4008]| 6898| 50%| 3448| 450M| 1125%
HEZQ 1RRIC D= 2108| 4788| 50%| 2398 240M| 114.3%
TUAIL—1A 1RRIC D= 1008]| 2298 50%| 1148B| 120Mm| 120.0%
PRUT 1RRIC D= 2108| 4478 50%| 2238 240M| 114.3%
2B 1RRIC D= 1008]| 2368 50%| 1188| 120Mm| 120.0%
FBEB 1RRIC D= 4008] 1,0538| 50%| 5268| 450M| 1125%
TEE 1RRIC D= 1008]| 2498 50%| 1248| 120Mm| 120.0%
SHIEE 1RRIC D= 2108| 4728 50%| 236H| 240M| 114.3%
A= 1RRIC D= 2108| 4598| 50%| 2298 240M| 114.3%




